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L 1. Hew many number of moles are equivalent o S a4 & A J:. sipS 8Ll €Oy o

5 grams of CO), 7

024 (D) 021 (C) 0.18 (B) 6.15 (A)
VWhich cive of the following shell consists of tnree subshelis? S J” /’_ﬁ/ oA J': e (E et ~H
M ozhell JE M (D) Lshel L (©) Nshell JEN (B) Oshell JO (A
L 4 apd 50 period of the long form of periodic table L,H’ff,t_‘ g U Koy 14 g,ki..ﬁ&,f: STl L =3
are called & g .
normal periods ir St (B) short periods 14 NI Y
yery long periods 4 ki Gy (0) long periods  JLfF by )
. the atomic number of lanthanum is W RE—— A gjli ¢ eagiosd
101 (D) 67 (C) 57 (B) 88 (A)
. How many electrons does a tripple covalent bond involve? - & A 3 wibe' L e
only theze o3~ (D) four 4 (C) six &% (B) eight #7 (A
The bond formed cug 1o complele transter of electron ubtzu‘”{d’ul}"?! T (31% T (;11 Lz ke -0
from one atom to another atom is called - t'l[”.‘(.__.__,d.m_ £ [P0 = .:L &
ionic bond ¥y LXT (B) covalent bond  Ft ks (A)
© metallic bond &y A (D) dative covalent bond fuL.w’::,.J;’.: (e
Vanour pressure of water in mmHg at 20°C is _o s mmbg Hy ¥ d» 4 WEe -7
149.4 () 553 (C) 17.5 (B) 4.58 (A)
s Molarity is the number of moles of solute dissolved I - a/f-fui" £ & s 5 ‘J‘/ o & s oy V’Nv - B
150 g of salvent !»a‘fmo Lo (B) 1 Kg of solution "!/;"’/ 15 A
1 dmd of solution 1 dm3 oo (D) 4 dm?3 of solvent 1 dm? Ioasndr (G
5. Which percentage shows the volume in cm’ of a cm’ 'J/(fb Lol \3:; ek St -9
solute dissolved in 100 g aof the solution? - C}/ﬁb’; Siw J"uﬁ ,/"l,fdwo Loy ’:L’f PRy
Bt ‘\” (D) % 1 (©) % _n)_ (B) Yo Pl (A)
0. The formula of rustis e b gl -1

n [

Fe(OH), ) Fe(OH),. 01,0 (©) Fe,0, (B FezO_\.nl-'l:O (A

11 . Which of the following is weak electrolyte? s .‘}U;/’*gl /,-/’L?f.:, St -1
NaOil (D) H,80, © Ca(OH), (B) Nacﬂl (A)

1. Which one of the following non-metal is lustrous? /w oL Wi S Sila 12
carbon ¢ (D) odine o347 (C) phosphorus U276 (B) sulphur )f (A)
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Time: 1:45 Hours (Group:1) Subjective - Jlﬁl (..r,!/(ll‘n;) 1045 0

Marks: 48 Wj_é (2]

Note: Section 1 is compulsory. Attempt any TWO (2)

questions tfrom Section 1L

% - Write short answers to any FIVE (B) questions.

Define empirical formula with an example.

i - What is meant by chemical properties? Give an example.

45 . Define atomic number and mass number.

RAVAES

v - Define electronic configuration.

i - Define shielding effect.

<ii - What is meant by "blocks” in modern periodic table?
vili - What is effective nuclear charge?
o

2 - Write short answers to any FIVE (8) questions.
.. Why does a covalent bond become polar?
- Define coordinate covalent bond.

Define intermolecular force.

What is meant by evaporation and condensation?

Why does

vi-  Define molarity and write down its formula.

- Define solubility.
Jii. Differentiate between dilute and concentrated solution.
4 - Write short answers to any FIVE (8) questions.

Define reducing agent.
Define strong electrolytes with ane example.
Find oul the oxidation number of chlorine in KCLO,,

when oxidation number of K=+1 and O=-2

. Write down the name of two types of electrochemical cells.

v~ Write down any four properties of silver.
iHow does chlorine react with hydrogen?

Write down two chemical properties of non-metals.

in diffused sun tight.

(21 0m

Write down the observations of Rutherford's experiment.

vapour pressure become higher at high temperature?

Write down reaction of methane (CHJ)\Nith chlorine (C,Q._,_)
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(a1 Write down five differences between Rutherford's (5)

atormic theory and Bohr's atomic theory.

ih) Write down any four differences between (4)
compeund and mixture.

Define covalent bond. Explain its types with (8)
al least one example of each type.

vapour pressure? On which faclors

(4)

y What is

yapour pressure does depend upon?

raplating? Explain alectroplating

(8)

y What is ele
of chromium,
, Dxplain pareentage somposition of solutions (4)

fy four cifferent ways.
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The solution which is formed by dissolving a

substance in water is called

unsaturated solution ¢ £l (B)

&
% L oG
supersaturated solution € o (D)

A good exampie of hamogeneous mixture is

5 &

ice cream (71 (D) wood J# (C)

Formaton of water from hydrogen and oxygen is
neutralization ¢~ U (B)
redox reaction uf{,d/ J'/"Jf:/ D)
Electron affinity of flourine is
=325 KJ/imale (D) ~330 Kd/mole (C)
{dentify which pair has polar covalent bond?
HCE & H.O @) C.H, & H,% (©)

folarity is the number of moles of solute dissolved in

1060 g of solvent r!/:TOO Lo (B)

1 dm3 of solution

s
1 dm3 L (D)
The plements of group | and group Il are calied

f-plogk i -f (D) d-block t-d (©)

Constant tactor in Boyie's law is

temperature %2 (C)

moiz Je (D) e

Helium nucici (_H‘c” ) among these is
; : Ky o
alpha particle ! /.&L;J! (B)
neutral particle K (D)
Which of the following non-metal is lustrous?
sulphur &

hydrogen ¢/ 0 (D)

Triple covalent bond does involve how many electrons?

3 (D) 4 ()
The most common example of corrosion is
rusting of iron £ s (B)

rusting of tin o &5 S/
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acid, base reaction
~328 Kd/mole (B)

N, & H,O (B) CE

At Z.,LL:( o
p-block Jit-p (B)

A {Cy phosphorus
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Five, .
beta particle Ukt (A)
gama particle L,_”:gL»:? {C)
e A St e ot St

G (B) iodine o/ 5T (A)
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chemical decay .+ 3 (A)

rusting of aluminium b(f.,f};’/ﬁ"}' (C)
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Note: Section 1is compulsory. Attempt any TWO (2) (2) 2 RIS LA e - Sit o

questions from Section It ..é'g.:pyﬁ Lo il

GUT—G z—u Section - 1 Jit

9 - Write short answers to any FIVE (5) questions,  (Bx2 = 10) -Zf,{ fws,s,f?zimv {5) é b §f -2

i. Define substance and mixture. £ _:; ? /“ A’ (Substance) JV‘W‘/ ot
i i ; ; y ’ 5 4 s o T N, 2P 7
. Write down chemical formula of sugar and sificon dioxide. S ffu)»m 174 b)e it 4&" Ufm)f Rl

2 5 A 5 i L 3 1 5 /4'/ P & )f 7 ; e > soF r‘[l__J_ﬁl 1%
- Define aiomic mass unil. Vifrita down (IS vaiue in grams. wie g LR P S QT <& A iy Cooan

R . . o ;‘ ,,r'}) n’ -
oL Wiite down he electronic eontiguiation 91 i // L g /C d xa/\r) ULV

' ] . S F
+ . Define alomic radius. ,:-._;-, i \,} Lt B N
vi-  When does alagiron ernit o7 absorls enery; Ve, B ;...Jﬂl (RO f ol g
v - Define pericdic aw. -:.; ;..n/‘ it -
. i 5 s R T U i ’E’.‘; i
viii - Wirite down the trend of eitction & {finity in pariods P bl e :;-b-.f (kD - Vi

=i (5) & L W&f

w.:,; \,@UR'J l) + wf:ﬂ - i
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. Write short answers fo any FIVE by Qamuifms.

G
!

1o Define covalent hond,

¥ s e s . . ‘,; % L' <
G. 0 Wnat is relationship batween 2ied tronegativity and polarity? Y i i.;f e 43 z«;' s ;*’ A i
. . 7 . P L - o B . O b
L. What is double covalent bond? (Hve an eXxampie. LER ! \.’,»2:- RIS AT

3 B % o B 5, o J e, £ ,
5 e Bovia's iaw. s VL K& EJ‘; RS
N - I

¢ Wy is evaperation a CortNUNUS DTOCESET ‘.c;.. ;,J;é 2 u’" q,fg/-u-' A
i i T o it --'_»g,“ ,‘» M' < {,. 'L/{«

che Define diute solulion and concertrated SeluioT, S Py

rated seluion,

gk
st Wihat is motary?
& Wrire short nuswers (o ony FIVE (B} qaes dons,  (GxE=10) ...f’.»;;:.l;;;"
G- Whatl ‘
dn. WHaL are wear ol 3
oo WWRatis rusting of ron? Wiite dowers it imy Ao
. WIS GOWN Ry FOU 03
5 iy Ny WO Of matnmm
Wiite down iy Loy Hor-netais
e Wirite down halanced cramical ecuasion showing chemical L}'L;i_/‘l.;)ﬂ ; z

1 of flucring withy s

‘
Section - 1L 2.5 :

&~ {a) Different foord * 3 L e e (L) = B |
F o~ () Differentiate between futherford atemic theory {5} D 2 A 22 m G LD $d s (LA ' i
. 3

2 g/ ;

and Bobr atomic theory.

() What ls meant by physical and chemica {4) Yo ol e e & ~i~ s u(wﬂ L)

properties of matter? FExplain with examples. i ol e YD

G - (x) Define and explam coordinats ooy atent bond (&) e U & ““”’if‘t e e (- B
with examiies. :N il
(b} Whal is vapour pressure? On which lactors (4) Yl 348 A e AL S
vapour prassure does gepand Upon?
7 - () Dascribe electroplsting of chrormn, (&) "gﬁw‘ﬁ'&’)}:d}%[ it -3
(1) Calculate the mofarity of & solution which is prepared by (4) 400 em’ "j, “'“ (.’b“ 0/ v L'L/ I’L C” <Y) ‘:;2
dissolving 28.4 g of Na,S0, in 400 e’ of solution Y Na,50, (Lf 28.4 X 5
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